‘ Y-RE #smmsismass) qsmm-125mm)

PR
FPRERL (L S/ W)
FERA

M E Lock Valve, Relief Valve, Brid[E, 5 & EFLS4R,
(ZERTE 2 ERIFHE ]

g

Q

32

o

2 F= A

Y-0715RE Y-1020RE Y-1025RE Y-1225RE Y-1240RE

JEEE(TEE [mm] 15 20 25 25 40
SEZEA (Push) [em?] 44 84 84 120 120
SEZER (Pull) [cm?] 37 79 79 113 113
JEEZEHES Push [kN(kgf)] 16.6(1693) 32.0(3264) 32.0(3264) 46.0(4692) 46.0(4692)
SEEHS Pull [kN(kef)] 13.9(1417) 29(2957) 29(2957) 42(4283) 42(4283)
RATEES [MPa(kgf/cm?)] 4.0(40.8) 4.0(40.8) 4.0(40.8) 4.0(40.8) 4.0(40.8)
RFHRARAEE [min] 6000 6000 6000 6000 6000
1RIES%E [N - m(kg - m)] 0.118(0.012) 0.46(0.05) 0.49(0.05) 0.88(0.09) 0.88(0.09)
/& Leak £ [¢/min] 0.8 0.8 08 0.8 08
KITAGAWA® Model Y-0715RE Y-1020RE Y-1025RE Y-1225RE Y-1240RE

¥ BHESHHLMER,

¥ EIRFIEG L T AR AR, RS AR,
¥ 2 Leak BRRES] 3.0MPa, ;i 50° BV E,
% =T EHRIITETRA Kitakawa ##4T OEM 477,



L M 5
Ve MIN.15 i1 N
= .
4l il 2:PT% | | GigTRoe
2 I | 4 /
> Y >J
T [
& ﬂ
— & ly
| AL _unin | g
c
PTY (@ , =
| O
>
R Na g
-4
FEmRT
Y-0715RE Y-1020RE Y-1025RE Y-1225RE Y-1240RE
75 105 105 125 125
104 135 135 160 160
“ 90 100 100 130 130
_ M20x2.5 M20x2.5 M20x2.5 M24x3.0 M24x3.0
_ 227 252 257 260 306
_ 161 163 163 163 194
n 6-M6x20 6-M10x20 6-M10x20 6-M12x24 6-M12x24
n 133 158 163 166 181




	回转油缸 14
	回转油缸 15

